TR TTRAEFTRE Ak

No. BOH il H i H % B AR
57200 (1) P11 B ERSS
ATR—DEN] 1) 9:30
5H21H(H) ey 7 7o R
67240 (1) P11 B ERSS
ATR— VAR 2+3%8 9:30
6H25H (H) Pk 1L B ERYG
1 R R W THIR (1) BRI B ER 3 9:00
, 5H4R CK) KAt LB ER Y
-~ 8:00
5H5H (4) KL BFER Y
i 5H14H (H) Mk (L 7 ER 8:00
AR — A
5A21H (H) BRI ER S 8:00
— B 1A 5H28H (H) B Ak 7R
, 6H4H (H) AREDIIE = S: /Ay 8:30
—#EFB -
, Y - k 6ALLA(A) | FAIly 7R
O Tt 6HISH(A) | RAJIGEMITIR 8:30
AT 67240 (1) WH R TR 9:00
B S g 8H20H (H) B Ak 7R 9:00
ARAU-9 6H48 (H) Mk 1L B A
AZRAU-10 6H18H (H) Pk 1L B R4
9:30
3 +ooy B = AZRADU-11 9A2AH (1) Mk 1L B A
AR U-12 9A3A (R) MK 1L B R4
— 11H5H (H) Pkl b s 9:30
A _ —BRET T NA 6H18H (H) PEilT =2=—h 8:30
a = A
RS I AL T IV A 64250 (H) PEiT =23 —h 8:30
INEEAE DR 9:00
HRERAE DER 11:00
5 | 2w | dEom 017(F) | BhilibE L 12:00
s N 14:00
2 ANOFR (A —/LR) 13:00
INTEAE B 5H13H (+)
WA B
6 ==X Bk — B LA HYER—L 9:30
6H4H (R)
F—IR— IV B TR
FG—IIR— VB AT IR
INFAEDED 5H21H(H) B OH/INER 11:00
7 NL—R—L e Ok 7H2H (H) P AR H 9:00
< EADE TH5H (k) LN B 19:30
AR—/DEE]
8 7K VK HpER A B A 6H25H (H) FEWNEAT—L 10:00
— % 1
TN B A DTS
9 = S A 57 rhER A B D 6448 (H) Pr 1L FE R 9:00
—WFB 2 DR




TR TTRAEFTRE Ak

No. B & H E:r] H 5 B A6 IR
10 v — F R — b — % 5H14H (H) [ R S N = 9:00
INEAEAREEGR T TE)
INEAE AR T TE)
11 78 £ 36 N B SRR ) TH2RA (A) &N AR BB 9:00
A S (T R)
R (T TB)
IR — ST
12 = 1 6H250 (H) T RE Y 10:00
W — T
INFEOHS (B ) 5H21H (A) HVER— L 11:30
13 SRR HREOER (B %) 6H3H (1) P e SN 9:00
— D (B &) 5H21H (A) HVER— L 11:30
TN DH
14 R B TH9R () [BRHT/NFAR (KB EE 9:00
HEEE O (B 4&)
PR 2R [ AR
15 Ed B DEEDHR 6H18H (H) BRI E 9:30
2PN
/N B DT
9:30
) H2RAE - DBR
16 INAF sy RIR =L 5H14H (H) HVER— L
INEAE LT OOHT
13:30
H2RAE B - OER
v — ~ i LA ) sk )
17 e _ " i 6H25H (A) PRG 8:40
. e B TH1H (L)
18 Y 7 Xb - el =22 —h 9:00
7 - — k% 7TH2H (H)
o | 22T S TA2E(R) | EoRNERIRTE 9:00




